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— What time ~ ? | \
@ It is[It’s] nine (o’clock). (5&£5&8)9BTT,
® What time is it? —— It’s ten thirty. AETTH. 1085309 T,
©®© What time do you get up? BEIIFERICREETH.
—— I get up at seven. i 7 BEICREE T
L J

OBZADORLE It islIt’'sl~nmow). T [(§)~ETT]| O0BMKEZET, o'clockld [5 &5 &-#
DEMEET. it AR TCOEBCHVL LN, BERBICERS 20,
It is ten thirty now. (£10830%3T9.)
ORZAEI-FRBDX What time is it? AR T L] OEHEET. 210 ItislIt's]~. &9 %,
OMARIc~LEFTH] (What time doldoes] + EE+BHADEH~ ?) T [ REABIC~LET ]
DEWKZET, BAOXT [(~B-2) 2] £E&x5E X132 (at +84)) TFI,

i2H - Bidzrvh3x}

® What day is (it) today? —— It’s Friday. =&>@@macsh.
©® What's the date today? —— It’s June 2. =s>@@B@EETTH.

ZEHTY,
6H2HTTY,

OREEZIFNRDX What day is (it) today? T [Z & 3 (3ARB T »] OEKEET,
OBf1Z-FH3dX What is[What's] the date today? Tl[Z & > 3TBABTT »] OBWKZET,
What’s the date today? —— It’s June 2.
(the) second &5 E
Hiti352 5 BR T,
1 =(the) first 2 =(the) second 3 =(the) third 4 =(the) fourth 5 =/(the) fifth
B &H#EH

1 A January 5H May 9H September HEH Sunday A#EH Thursday
2H February 68 June 10 October AWH Monday <#H Friday
3H March 7H July 11H November XiEH Tuesday  +FEH Saturday
4H April 8 H August 12H December /KiEH Wednesday
KIRFEZRT it I \
O It’s sunny today. F&SIBNTT.

OXRIIEERT it it (38 - EH - * Kz e OEEe oSHi &
HAETLAAC, Kig - 2808 - FHi2 E2KT | sunny(BEho) cold (%) spring (&)
EEICHHVLNS, cloudy(< &V ?) cool(FHL W) summer ()

rainy (W) warm (BB 1) fall (£k)

snowy(EZD) hot(&\) winter (%)
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EVSXICEBESIC, BRICHEEEEZHEL, ®00
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(1) What time is it now? —— It’s eleven.
(1) is it now? — It’s
[1(2) is it now? — It’s
[1(3) is it now? — It’s
(2] (EBE~ULFEIN]) ROMEXFERTEL I, BRICHEEBZ R, ®O
(1) A: do you get up?

B: Tgetup at six.
[J(2) A: What time do you have dinner?

B: T usually have dinner seven. (7H§i)
[13) A: do you go to bed?
B: 1go to bed about eleven o’clock.
(3| B - BRERFRZI) ADBFXOBERERT LSS, BRICEEEEZE I, 00
(1) xS MEHTT >, H#EHTY,
is it today? — It’s
[2) & xS IfMEHTT H. +BHTY,
is it today? — It’s
[0B) & xS RMAMETY 2. 1 AI5SHTY,
the today? — It’s 15.
(@) = x5 mARBTT 2 2 A28HTY,
the today? — It’s 28.
4| KEEEEXRT I ROEXEBEATICL B, ®0

(1) It’s sunny today.

[1(2) It’s winter now.

[1(3) It’s warm today.




